Slope Revievsgnﬁ,/

Find the value of x and y so that the line through
the points has the given slope:
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Ex.2) (8,-5)and (6, v); slope: —5

Find the slope:
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Ex. 6) *(-4, 20), (-11, -19)
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Ex. 9) Find the slope of the line that is parallel _
to the lme y—/Szx 7 Eoure Slope.
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Ex. 10) Find the slope of the l1ne that is

perpendicular to the line y = L_ x+2.
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Werite an guatlon for a line with the following
information.

Ex. ll) Through points (1,-8) and (4, l4)
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Ex. 13) Perpend1cular toy=
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HOMEWORK:

1)> Write the equation for the line in the graph.

U= 2x-3a0

Write an equation for a line with the following
information.
3) Through pomts (-2, 5) and (1, 11)
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7) Find the equation of a line parallel to line
2x 5y= 6 W1th a y-intercept of 7. -
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given point and is Earall el to the g1ven hne

L&6,4jr ;—1x+3y =9'/V

o
s

TR
|
== 7
Sl T
S Y

P) Graph: x|=-5
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| 11) Find the x- and y-intercepts and graph:
| 2x+5y=20
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12) Find the x- and y-intercepts and graph:
4x—-y=28
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Write an equation for the following lines.
13)ym=7andb=-4
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14) Slope of —1/3 and y-intercept of 1
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15) Give the slope and y-intercept for the
following:
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8) 2y =-7(c +2)
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Slope: = yint: 0T 1

b)y-9=4x+1
x4 9

y-int: Lo_?\

Slope: L}

16) Write an equation for a line that is
perpendicular to y = —3x+6 , with a y-intercept
0f—10. =" :\
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17) What is the equation for the table above? [ &~
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18) Graph:

2x-6y=0
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19) Graph:
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4x—5y=25
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20) Graph a line with slope —%

through point (-4,5).

21) Graph a line with slope 0

through the

point (5, -2).
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Find the slope of the line passing through the

points:
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22)  (4,2)and (9,7)
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23)  (6,2) and (-4, -1)
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perpendicular slope
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y-intercept= | 0, ~ | &

parallel slope = t

perpendicular slope
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